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(b) XYZ Ltd. is considering the proposal of b“Ying = 4 /
the two machines to manufacture a new prodye, “
of these machines requires an investmcntl of Rs, S
and is expected to provide bgncﬁts OVET 4 Period of ,
years. After the expiry of the useful life of the Mchip, |
the sellers of both the machines have guaranteeq ‘0' _
buy back the machines at Rs. 5000. The managemey
of the company uses CE Approach to evaluate risky
investment. The company’s risk adjusted discount rat | .
is 16% and risk free rate is 10%. The expected values |
of the net cash flow (CFAT) with their respective

Certainty Equivalents are:

Proajenn A % - e g

Year CFAT(Rs) CE  CFAT(Rs) CE

1, 30,000, 5 <, B 118,000 9

| 2 30,000 T 36000, 5 8

3i-: 30,000 i e . 24,000 18
o ot S 32,000 & 4
d be purchased by the

for @ @ o A
AR @ #
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ad CFAT (B0) CE  CFAT (80) CE
L+ 30000 Al 118,000 04 9
2 30,000 Tisios DOROB g B
2 RBRNO00 . i e DAy i T
4 30,000 ke i exial i A
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_;'i'i' one of two new
he old machine was
t of Rs. 70,000. The

Turn over
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machine ongmally had a projected life of T
| was to be depreciated straight line to zero sal"age e
‘The two new pieces of equipment being. cong
aremachmeXandmachmeY Machmequud
Rs. BOOOOmpurchaseandRs 20,000me Due
the expansion in operation, the management g,
the net working capital requirement of m&chine :
~ Rs. 10,000 and Rs. 20000forY Ithasa4ym
with no salvage value. It will be depreciated On straol
line basis. Machine Y would cost Rs. 1,15,000 and g .
25,000 1o instal. Tt has also 4 year life with no saly
.value.'l‘lnsoldmachmecanbesoldforks. 25,(m

--thscostofcapltaltobe 10% Whiéiimhme,if

' *-'shoukl the company acqu d
 before deprecmnonandtaxes dy and with ea
| ..efﬂnm achines ar ‘ |
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. (a) How would you deal with Sunk cost and Allocated
overheads in analyzing inmtment decision?
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(b) From the following information calculate "
£ Was
average cost of capital before tax for Apc Lt:'ﬂ%

Rs, (In llk},l)

(i) Shareholders' funds

Share Capital:
Equity i
Preference 122
_ Reserve | 4 1
(ii) Borrowed funds 0
~ Secured loans
‘Unsecured loans (including inter
corporate deposit) ol
~ Total funds : 2,400 |
Frefefes garel & ABC fifies 3 frg av of
aRa o W W e A

- ' 230 | g %o
: ﬂq'{m 3 S | |
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ddmonal information: i s @

WW‘"

i) Normal yield on equity shareholders funds is 15%
-gm’é‘r gaenial @ Pty @ e @ 15%
(if) D1v1dend rate on preference shares is 12%

aﬂﬁmmqtmzrm%

(iii) Interest on secured loans is 16. 25%

R O WA 16.25%

(iv)Interest on unsecured loans is 20%
TR WO W =S 20%
(v) Tax rate for ABC Ltd. is 40%.

 ABC fifits & fig ax @ | 40%. 15
C or () ” 2 i
. (a) What is capltal budgeting dcc1sxon? Explam its
significance for a firm.

o aeren fofr @ @ &7 tl# % i’e‘ﬂ{ 3%‘1
qewl Sl e FITT |
(b) A manufactunng company has supplied you wnth the

ww '25.00.(”0
Current assets 15,00,000
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| -Additional infor'mation' ‘
(i) 20 years 14% debentures of Rs. 2,500 face \'al
.. redeemable at 5% premium can be sold par, 2; |
 flotation costs.
(ii) 15% preference shares; sale price Rs. 100 pe; e
2% flotation costs.
i Gil) Equity shares; sale price Rs. 115 per share, flotatioy
costs 'Rs. 5 per share, '
uw R S 3 Freafife WTI:{ amaif &%
| Ao N . G
Sl R 12,0000 R 25,00,000
st % §&h 4,50,000 o1, SRR 15,0000
TheRa e 4, 50 000 ,
R 9,00,000
N, ST 10,00,000 -
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(m)ﬁmﬁim ﬁmﬂ?ﬂﬂ'lw'ﬁo ﬁl‘tham
5 To Wi ST ' |
The corporate tax rate is 35% and the expected growth
in equity dividend is 8% per year. The expected
dividend at the end of the current financial year is Rs.
11 per share. Assume that the company is satisfied with
its present capital structure and intends to maintain it.
| Determine weighted average cost of capital by using

. book value weights. _
Maﬁmuss%%aﬁtfﬁaﬁmaﬁmﬁm
7E s%uﬁraé%nwﬁahﬂaéaﬁmﬁw
R A 11 Bouﬁﬂm%nﬂﬁmaﬁﬁ;
Fl o ade o s ¥ A ¥ ¥R R/ I

mﬂlﬁ%l@%ﬂﬂﬁﬂmmiﬁﬂiﬁ
mmmﬁuhwaﬁmu i 11

. (a) New issue of capital is costlier than the retained
- earnings. What makes these two differ?

ufdmﬁa st at it ot o, e e B

| = AT W SET | . 4

ince manager. The

project for which Rs.
:'m- the market as a

.-.followmg ﬁn_ancmg_

Tu_m over
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 calculate the indifference pomts and earning per’ Sham
- of each of the ﬁnancmg plans.

"'.'ﬁﬂ%m%%mﬁoaﬁmg\ﬁr

7 ﬁaﬂaW@ﬂtﬁmm%

Pa‘rticutf:rs | Plan A Plan p 0::11%)
Option I: ,,‘\ | -
Eguity Shares , 30 | 30 ¥
Option II:

Equity sr_.arés' ‘ R Y 1
12% Preference Shares Nil 10 o
10% Debentures 15 Nil \a

Assuming corporate tax to be 30% and the face Valye
of all the shares and debentures to be Rs. 100 each

xﬁh@g%mﬁaﬂum%mﬁﬁmm-
€1 T 0% wRede A wEife e g

% R et AT & s R o e 1 R |

@R )
Fror . !l’kﬁrA QT
ﬁ“”’ ot B ﬁkinrc
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o / T X g
TIEROT S . FEA 80,000 Y

1120,000
TR Hia T 9 (%o) 1.10 by
8% fea=X (o) 50,000 y
o & gF @ (%0) 15000 150,

%ﬂmmwﬁmmﬁ%mmm#m
w9 & & Ry man | =em BN B 5T vaw
3R RrwT U & Sarfd X FEH § 12.5% mﬁm

P, o JTEReT @ Y FE F R a
¥ Rafy § & ; 4
4. (a) What are the factors that are considered while deciding
the dividend policy of a firm?
’ i o i A B 7w T R e
e e g &7 - i
(b) Using the data given below:
Rs. 7
10
12%
75,000
Rs. 5
Rs. 5,00,000

Scanned with CamScanner



Scanned with CamScanner




~ is at the optimum payout ratio. What Would
~ minimum price of the share and when? e ; '
. fqaimirzooooooao ﬁmmqﬁh%
| : IqH 2,00,000 ﬁw?uaﬁrmzioo,oooaoh |
%, \\ @mmk—ls%ﬁ?maﬁ'ﬂnlmt“ '
| A ST & SR A A A T T Ay, |
| T TR S FT G T A gy
o s _WWWQWW#WWn;_-
b R o 1 T R Ba gy gy |

(a) Wlmt are the assuInptlons of basic model of i |
EOC % S q‘lsa K mﬁms w %‘? |
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Aﬁfﬁ%m@:ﬁﬁfﬁ%ﬁz%wﬁwﬁﬂ

ﬂﬂﬁmﬁ%mmﬁ?ﬁ%ﬁ?aﬂiﬁw

e T ¥ 1 T R & A o ® B

o) & TET 50 W@ ¥ qgH 60 @ & A |

i) TEH! R T W9 At 9g2 1 SO 0.70 F
0.60 X AT |

i) ol ad §UE rEft Wged 20 R ® 24 fom A
ST |

w4 @ it @ 18% SR uftadt fewht @ 0.85 |

gzer Afv § WRadd & g H IRBA BT 11

Or(M)
(2) Explain the Baumol’s model of cash management.
A% YEY @ i Higd S A Hi | 4

(b) From the following information, prepare an estimate of

working capital requirements:
Projected annual sales 52,000 units

Selling price Rs. 60 per unit

Raw material cost 40% of selling price
Direct labour cost 30% of selling price
Overhead | 20% of selling price

Raw materials remain in stock on an average for 3
weeks. Goods remain in production process for 4 weeks
on avemgé. 5 weeks are allowed to debtors to pay while
firm gets 3 weeks credit from suppliers. Finished goods
remain in stock for 4 weeks. Lag in payment of wages
and overhead expenses is 2 weeks. 50% of the sales

are on cash basis. Assume that goods in process are
'k ; 15 Turn over

Scanned with CamScanner



| N |
- 100% complete with respect to materiy , i
4

in respect of labour and overheaq N

_ ut-“nl
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gl @ forg
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. (d) “Wealth maximization is a better criterion than profit maximization. Do yo
‘ agree ? Explain.

() ABC Ltd. has the following capital structure :

PTO.
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Particulars
Amount (Rs.)
E S .
quity share capital (1,60,000 shares of Rs. 100 each) 1,60,00,000
_—\—__—-———_x ? ¥

12% Preference Shares 16,00,000
109

Yo Debentures 24.00,000

The equity shares of the company are quoted at Rs. 110 and the company

is expected to declare a dividend of Rs. 15 per share. Rate of growth of
dividend is 8%, which is expected to be maintained.

(1) Assuming the tax rate of 40%, calculate WACC using book value
weights.

(i) The company wants to raise the additional term loan of Rs. 20,00,000
at 10%. Calculate the revised WACC assuming the market price of
equity shares has gone down to Rs. 105. = (5%10=15)

OR

(a) “Financial Management is concerned with the solutions of three major decisions

a firm must make.” Explain this statement highlighting the inter-relationship
amongst these decisions.

(b) XYZ Ltd, has the following book value capital structure

(Rs. crore)
Equity Capital (Rs. 10 each) 15
12% Preference Capital (Rs. 100 each) |
Retained Earnings 20
11.5% Debentures (Rs. 100 each) 10
11% Term Loan - = A
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e, 3 (Aviar % 3 wEe @ T wRd §Y wiforg |

(@) XYz fofids ot gor deg TNt weamT 0 W 2

I bk
o T
Léﬁa-a 9l (10 & AW IW) 15
s T e W
! 12% @t s $oft (100 & @) 1
' e
wioenRa 3y 20
11.5% et RB3=R (100 & =) 10
11% 3mafde =zor 12.5 g

ST YT I Seraet 3 | 3.60 T 9l IR B 1 WY e A B v
7% B %t e | viy FR AR B 40 T 2 10 =¥ e wfRw sftmm =i
T 75 T AN AW @ Baw ¥ e @ 21 6 9 e g Ri=w 80 T R
Ramr ot = W s @1 2 1w B Ry s wR w w 40% 2 )

Tst 2t wiRer sitea wr @ aRee (i) 7 S wRY S (i) IR I/ WR D

gfe ¥ g |

2. ACLtd. has just installed Machine X at a cost of Rs. 4,00,000 having a useful
life of 5 years with no residual value. The annual production is estimated at
1,50,000 units which can be sold at Rs. 2 per unit. Annual operating costs are
estimated at Rs. 4,00,000 (exclud:ng deprectatzon) at thls output level. Fixed

costs are estimated ai unit (excluding d
of output. e ‘

for the same level -
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X the required ra

5

The company has just come across another machine Y having same fu
5o usefu] i
Jble of giving same o g
ation). There will be no change in fixed cost Capital
: 1tal cost of

5,00,000 with nil residual value,

k. utput. Annual operating cost is €Xpected at Rs, 3.60
| | s. 3,60,000
(excludmg deprect

the machine is Rs.

fhe company Can sell the machine X at Rs. 1,00,000 but the cost of dismantli
in

and removal will amou .

not ye! started and the COmP any wants to sell Machine X and purchase Machine

i

AC Ltd provides depreciation under straight line method. Assume corporate tax

at 40%. The cost of capital may be assumed at 14%.

Advise whether the company should opt for replacement.

()

(b) Will there be any change in your vi
but the company has to select any

ew if Machine X has not been installed

one of the two machines. (15)

OR

intensive manufacturing facility. The company
It is estimated that system

Rs. 1,50,000 in supervisory
Rs. 40,000 in-inventory

RS Ltd. wants to replace its labour

is evaluating a project 0 install a machining system.

will result in annual saving of Rs. 4,50,000 in wages,
cost, Rs. 50,000 in material losses during production,

cost and Rs. 30,000 in other operating costs.

50,000 and will require an installation

To operate the system,
nnual salary

The machining system is likely to cost Rs. 7,

cost of Rs. 50,000. Its useful life is estimated at 5 years.
f two trained operators at an &
‘ntenance cost i likely to

\rly at 35% and

the company requires the services 0
of Rs. 1,50,000 each. I |
Rs. 40,000. Assuming ¢

PT.O.

nt to Rs. 30,000. The operations with Machine X _
ave

il
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(1) The relevant cash flows of the machining system
(i) Payback period

(iii) NPV

(iv) The relevant cash flows, payback and NPV assuming the machining System
can be sold for Rs. 50,000 at the end of 5 years when its book valye is

supposed to be zero.

(v) The relevant cash flows, payback and NPV assuming that the depreciateq
book value of the system upon termination at the end of fifth year will stang
at Rs. 50,000. However, it will not fetch anything i.e. its sales value wi| be

zero. (15)

Acﬁrﬂée%mﬁ?u,oo,oooaa&amawxwﬁaﬁwﬁaﬁmémm
g sﬁﬁsﬂtaﬁwgmwér:ﬂ%mmwwﬁa: 1,50,000 fie g
xS lznﬁgﬁzﬁﬁm%iﬂmmlwmmwmﬁmmmﬁ
FIT: 4,00,000 T (9 & F P o) SR | IR W R S
ST 6 % T IFE ¥ (7 W@ P ) o

AT T T SR T Y 36 2 R swa Y T 7 3R W T IT 3 R

S TR B | THER AT W 3,60,000 T B 7% s & (T W TR W) |
mmiﬂiwﬁqﬁwﬂﬁu\mmﬁauﬁﬁmm 5,00,000 & ¥ 3k srafine

FE X Tl 1,00,000 = % &= werch 8 g so it mmmwam

. S

' el W A= .
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] . - - -
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NPV and IRR ? Whigy,

(a) What are similarities and dissimilarities between

3. . '
the two methods will you prefer when they give different ranking of InVestmey,

of proposals ? Why ?
A textile company belongs to a risk class for which the appropriate P/E ray;,

(b)
is 10. It currently has 50,000 outstanding shares selling at Rs. 100 each, T,

firm is contemplating the declaration of Rs. 8 dividend at the end of t},
current fiscal year which has just started. Given the assumptions of MM,

answer the following questions :

(1) What will be the price of the share at the end of the year (i) if dividend

is not declared (ii) if divided is declared.

(2) Assuming that the firm pays the dividend, has a net income of
Rs.5,00,000 and makes new investments of Rs. 10,00,000 during the

period, how many new shares must be issued. -

(3) What will be the value of the firm (1) if dividend is declared (ii) if

dividend is not declared. (5+10=15)

OR

(a) Define cash flows. How is it different from profit ? Explain the superiority of

cash flows in investment decision making.

(b) The following information is supplied to you, about LK Ltd. :

Earnings of the company Rs. 15,00,000
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.~ e the theoretical market pri
45 () Determine price of the share g pe; Walter’s
Model-
) Are you satisfied with the current dividend policy of the firm 7 I
i . A :
@ 1, what should be the optimal dividend payout ratio b his

ase? Find out the price of the share at that dividend payout

ratio. (5+10=15)

RR ¥ TR S SR 1 E 7 & e 3 A oo

).vaaﬂ” e
fr A ot 0 @ T W 2 Ry A 7

(@
e T
Wmﬁmaﬁmemmm P/E 37 102 158
- @@ T 50,000 FeT TR & WA 100 T i @ fwm & e & £ 1 59
wmﬁua&a&mﬁfﬂz g & iy o Heo A o A T W
S

g Bl W%M%mmﬁmﬁﬁaﬁwﬁ%mﬂm: _

T®
(i)a&%aﬁ“ﬁw
e e R o

& < O (i) e e R e (i)

foma s 5,00,000 T # 3 @ I

g 1 30 2, T
() 7= 3, ey P Rt e e 0 B

iwlo,w.mﬁﬂwmm
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() LK fofits @ @ ¥ s Pesfoas gomd @ a8 &

N A Rt 15,00,000 %,
T W 5,00,000 %
i I o sen 1,00,000
A A S 10

FAdw w wfrwe @ w® (%) 15

(i) arex wireet & mwﬁﬁdﬁwmaﬁﬂawﬁuﬁwa&ﬁm

(ﬁ)wmﬁaﬁﬁ@mﬁﬁ%mé‘?u&ﬂﬁ@wﬁaim
SR YA ST S B iRy 7

awm?m'aamawﬁmaﬁaﬁwmmqu

4. (a) How does Gordon’s Model differ from Walter’s Approach to relevance of
dividends ? What are their similarities ?

(b) The cost sheet of PQR Ltd. provides the following data :

Cost per unit
Raw material =
Direct Labour 20
Overheads (including depreciation of R, 10) 40
Total costs E
i y -
Selling priclRERE L
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Average raw material in stock is for one mong

h‘ AVera

ge matel.‘ .
Y Suppliers. one ork-

ds is 3
€Rs. 1,0

in-progress is for half month. Credit allowed

allowed to debtors: one month, Average time month; creqis

_ ) a
days; Average time lag in payment of Overhea i Ofwages is 10

. . d
on cash basis. Cash balance is expecteq 1o b 3Y8. 25% of sales are

0,0 ;.
lie in the warehouse for one month, 00. Finisheq goods

You are required to prepare a statement of he workin
finance a level of the activity of 54,000 units of output

& Capital needeq ¢,
Production i carried
on evenly throughout the year and wages and overhe

ads accrye sim;
State your assumptions, if any, clearly. (:‘mllariy.
+10=15)

OR

Explain stable dividend policy. What is the significance of stability of
dividends ?

X Ltd. currently makes all sales on credit and offers no cash discount. It is
considering a 2% cash discount for payment within 10rdays. The firm’s
current average collection period is 60 days, sales are 2,00,000 units, selling
price is Rs. 30 per unit, variable cost per unit is Rs. 20 and average cost per
unit is Rs. 25 at the current sales volume.

It is expected that the change in credit terms will result in increase in
sales to 2,25,000 units and the average collection period will fall to 45
days. However, due to increased sales, increased working capital
required will be Rs. 1,00,000. (It does not take into account the effect on
debtors). Assuming that 50% of the total sales will be on cash discount and

: t be
; . - t, should the proposed discoun
2(;'/:; :1 the required return on investmen (5+10=15)
ofiered 7 LBl

PTO.

=N
= e
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(@) xﬁ;ﬁagngaﬁﬁwsmmmg@?
wm%mz%ma@&mwm
aqafﬁxéoﬁ#aﬁénﬁfﬁmwo,ooozﬁaa%g el w“’n‘%mm

‘é\%a‘aw aftie S SS9 1,00,000 % By (7%

TR w
ﬁaﬁﬁqﬁﬁ%ﬁ%)luﬁwﬁn@ﬁﬁmuo/o mﬁm

s 2 o
w qifod afawes ZO%MIW'%WW%HHQEWWW?%

(a) What are the factors affecting the cash needs of a firm 2

(b) The capital structure of Z Ltd. consists of 35,000 equity shares of Rs. 100
each. The authorized capital of the company is 60,000 shares. For the financial
year ended 31.3.2016, particulars of production, cost and sales are as

follows :
Units produced and sold (@ 80% level of activity) 50,000
Selling price per unit Rs. 20
Variable cost per unit Rs. 10
Fixed operating cost per unit Rs. 4

In view of emerging opportunities arising out of globalization, Z Ltd. declde‘d
| i for its product. This

to utilize f
00,000, As a result

would ho
of util
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552 14
selling price. The possible alternative sources of finance for the requireq

additional capital would be
(i) entirely by equity shares of Rs. 100 each
(ii) entirely by 6% bonds of Rs. 500 each or
(iii) 50% by equity capital and 50% by 6% bonds of Rs. 500 each.

Assuming a corporate tax of 40%, which of the alternative financing scheme

do you recommend ? Also, calculate all the leverages and comment.

(5+10=15)
OR
(a) -Explain the factors having a bearing on working capital needs.
(b) The existing capital structure of RST Litd. is as follows :
Particulars Amount (Rs. lacs)
Equity shares (Rs. 100 each) 40
Retained Earnings 10
9% Preference shares 25
7% Debentures 25
Total 100

Company earns a return of 12% and the tax on income is 40%. Company
for which it is-

wants to raise Rs.

\",.;j‘.‘.:-__ . . - g
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(ii) Issue of sufficient number of 10% preference Shareg

(iii) Issue of sufficient number of 9% Debentureg

Projected P/E ratios in the case of equity,
are 20, 17 and 16 respectively. Which alt,

best 2 Give reasons for your choice.

preference ang debenture financing

ernative will You consider 1o be the

(5+10=15)

() T o AT T IR S A e w9

() 7 fyfids & $o woET A 100 T AR 35000 R fw # 1 g o

60,000 R = € | 31.3.2016ﬂ%m§qﬁﬁqﬁ%ﬁqmtﬂﬁ£,§
Rt @ fareRor @ VR T

o dor R T R IR T (WA D 0% WA W) | 50,000
bl 20%
el 10T
WAy AR W gRe =

ST B HRO I FEE T e g7 Z Pl ¥ @ v W T s
= firag @ € @i Ses Sae & g sfaRew i 9t i 6t w1 v | TR
T&@d 15,00,000 = it afaRed Golt RN | ITART T G WA = IROERE
TRl AR 10% &9 B WG W T W 10% W Wi | SR e
Y woger firgr s T AT ST g @ | SHRe o o s @ e iR
danfors am 3§

(i) wfa: 100 = @@ SR F TR0
(i) e 500 @ aw 6% i@
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(®) RST fefids =it Hiver $oivia @1 38 YR 2

e o (o T ) |
SRFd I (100 T ) 40 i
weRa s 10
9% e R bk, 25
7% Ra=R 25
S - 100

w129 W i Tl 8 ol SaeR o R 40% B | W o R
aRArH & fore 25,00,000 © soET T T 2 R fig 95 Refiien Res
R R = @ R :

(i) 25 = widR fEE W 20000 SR R & T T
(ii) vt A % 10% A A it Tl |
(iii) v A= A 9% RI=RY o) W

SRl st ol R R el @ 9 % AR P/E seum s 20, 17
AR 16 8 1 3 v faeres o wod sremn WA 8 7 ol v @ R R e
Y |
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